Department of Mathematics and Statistics AMAT 219 - QUIZ 4 - Tuesday, March 21, 2006
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45 Minutes, Open Book, NO Calculators
To obtain credit you need to show your work. Work should be neat and organized

1. Find the parametric equations of the straight line perpendicular to the plane x — 3y + 2z = 7 and containing the
point (-1,1,3). (1, 3,2) o Pachsedi o
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2. Find the equation of the plane containing the point (-1, 1,2) and the line ﬁ =(2,0,3)+1(1,2,0)
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3. What is the point of interesction (if it exits) of the lines I;(#) = (5,-1,2) + #(2,-2,4) and
—
I(t) = (4,-1,1) +£(0,1,-1).
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4. Find the plane containing the point (0, 1,2) and not meeting the two lines I1(f) = (1,2,0) +#0,—-1,1) and lz(r) =
(1,1,-2) +#(2,1,-1).
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5 Evaluate J'J.J‘ (=2x + 2) dV where E is the solid enclosed by the planesx = 0,.y =0,z =0,2x+ 2y +z = 2.
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